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SEE 2080 (2024) 

clgjfo{  ul0ft 

 

lbOPsf lgb]{zgsf cfwf/df cfˆg} z}nLdf l;h{gfTds pQ/ lbg'xf]; \ M 

 

;do M # 306f            k"0ff{ª\s M &% 
 

 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ M 

Answer all the questions:  

!= 200 hgf dflg;x¿df ul/Psf] ;j]{If0fdf 120 hgfnO{ km"6jn v]Ng, 85 hgfnO{ 

elnjn v]Ng dg kbf]{ /x]5 / 30 hgfnO{ b'j} v]ndWo] s'g} klg v]Ng dg kbf]{ 

/x]g5 .  
 In a survey of 200 people, 120 like to play football, 85 like to play 

volleyball and 30 like to play none of these two games. 

  -s_ olb F / V n]  qmdzM km"6an / elnjn v]Ng dg k/fpg] dflg;x¿f] 

;d"xx¿ hgfpF5g\ eg]  n(    ̅̅ ̅̅ ̅̅ ̅) sf] u0fgfTdstf n]Vg'xf];\ .  [1] 

    If F and V denote the sets of  people who like to play  football and 

volleyball  respectively then write the cardinality of  n(    ̅̅ ̅̅ ̅̅ ̅).  

 -v_ dflysf] tYonfO{  e]glrqdf k|:t't ug'{xf];\  .    [1] 

   Present the above information in a Venn-diagram. 

 -u_ slt hgf dflg;nfO{ elnan dfq v]Ng dgkbf]{ /x]5 < kQf nufpg'xf];\ . [3] 

   How many people like to play volleyball only? Find it. 

 -3_ b'j} v]n dg k/fpg] dflg;sf] ;ª\Vof / oL dWo] s'g} klg v]n dg gk/fpg] 

dflg;sf] ;ª\Vofx¿ lar t'ngf ug'{xf];\ .    [1] 

   Compare the number of people who like to play both the games and 

the number of people who don't like any of these two games. 

@= sIff 10 df cWoog/t 5fqf /LtfnfO{ cfˆgf] cfdfn] k9fO{ vr{sf nflu ?=50,000 

jflif{s rlj|mo Jofhb/df 2 jif{sf] cjlwsf nflu Pp6f a}+ssf] d'2tL lgIf]kdf 

/fVg' eP5 ,h;cg';f/ 1 jif{sf] cGTodf rlj|mo ld>wg ?= 56000 x'G5 . 

 Rita is a student studying in class 10. Her mother deposited Rs.50,000 

for 2 years in fixed deposit of a bank at  compound interest compounded 

annually for her study expenses and the compound amount at the end of 

one year is Rs. 56,000. 

 -s_ d"nwg ?= 'P', ;do 'T' jif{ / Jofhb/ R% k|ltjif{ x'Fbf jflif{s rlj|mo 

ld>wg 'CA' kQf nufpg] ;"q n]Vg'xf];\ .    [1] 

  For principal Rs. 'P', time T years and rate of interest R% per year , 

write the formula to find yearly compound amount 'CA'. 
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-v_ j}Fsn]] k|bfg u/]sf] jflif{s rlj|mo Jofhb/ kQf nufpg'xf];\ .  [2] 

  Find the annual rate of compound interest offered by the bank. 

 -u_ bf];|f] jif{sf] cGTodf /Ltfn] k|fKt ug]{ rlj|mo ld>wg slt x'G5 < kQf 

nufpg'xf];\ .       [2] 

  What will be the compound amount that Rita get at the end of 2 

years? Find it. 

#= /flhjn] cfkm";Fu ePsf] ?=12,00,000 af6 ?= 2,00,000 sf] df]6/;fOsn /  

?= 10,00,000 sf] Pp6f hUuf lsg]5 . 2 jif{;Dd df]6/;fOsnsf] d"No jflif{s 

10%sf b/n] rlj|mo x|f; x'Fb} uP5 eg] hUufsf]  d"No jflif{s 12% sf] b/n] 

rlj|mo j[l4 x'Fb} uPsf] 5 . 

 Rajiv has got Rs. 12,00,000. He purchased a motorcycle for Rs. 2,00,000 

and a land for Rs. 10,00,000. The price of motorcycle has been 

depreciating at a compound rate of 10% for 2 years, while the price of 

land has been increasing at the compound rate of 12% . 

 -s_ rlj|mo j[l4 lgsfNg] ;"q n]Vg'xf];\ .     [1] 

  Write the formula to calculate compound growth. 

 -v_ 2 jif{kl5 hUufsf] d"No slt k'Unf < kQf nufpg'xf];\ .  [1] 

  What will be the price of land after 2 years? Find it. 

 -u_ s] 2 jif{kl5 df]6/;fOsn / hUufsf] hDdf d"No ?= 15,00,000 x'G5 < u0fgf 

u/L n]Vg'xf];\ .       [2] 

  Will the total price of motorcycle and land after 2 years be Rs. 

15,00,000 ? Write with calculation. 

$= Ps hgf Jofkf/Ln] kfp08 :6ln{ª\u (£)1 = g]=?=168.11 sf] b/df ?=7,06,062 sf] 

kfp08 :6ln{ª\u ;6xL u/]5 . Ps xKtfkl5 g]kfnL ?lkofF 2% n] cjd"Nog eP5 .  

 A merchant exchanged Rs.7,06,062 with pound  sterling (£) at the rate of 

pound sterling (£)1 = NRs. 168.11. After one week, Nepali rupees is 

devaluated by 2%. 

 -s_ cfk"m;Fu ePsf] g]kfnL ?k}ofF ;f6\bf Jofkf/Ln] kfp08 :6ln{ª\u slt k|fKt 

u5{g\ < kQf nufpg'xf];\ .      [1] 

  What amount of pound sterling (£) does the merchant exchange with 

the Nepali rupees he had? Find it. 

 -v_ g]kfnL ?lkofF 2% cjd"Nog x'Fbf gofF ;6xL b/ slt sfod x'G5< kQf 

nufpg'xf];\ .       [2] 

  What would be the new exchange rate after 2% devaluation of 

Nepali rupees? Find it. 

  -u_ dflysf] egfOcg';f/ g]kfnL ?lkofF cjd"Nog ePsf] lbg kfp08 :6lnª\u;Fu 

;f6\bf Jofkf/LnfO{ slt ?lkofF gfkmf jf gf]S;fg x'G5 < kQf nufpg'xf];\ . 
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   How much rupees will the merchant gain or lose when he exchanged 

Nepali rupees with the sterling pound at the time of devaluation? 

Find it. [1] 

%= Pp6f juf{sf/ cfwf/ ePsf]  lk/fld8sf] 58\s] prfO / cfwf/ e'hfsf] cg'kft 

5:6 / k"/f ;txsf] Ifq]kmn 1536 ju{ ;]=ld=5g\ .  

 The ratio of slant height and a side of base of square based pyramid is 

5:6 and its total  surface area is 1536 sq.cm. 

 -s_ cfwf/sf] If]qkmn (A) , prfO (h)/ cfotg (v)  sf] ;DaGw n]Vg'xf];\ . [1] 
  Write the relation among base area (A), height(h) and volume(v) of 

the pyramid. 

 -v_ cfwf/sf] If]qkmn / lqe'hfsf/ ;txx¿sf] If]qkmn t'ngf ug'{xf];\ . [2] 

  Compare the base area and the area of triangular surfaces. 

 -Uf_ pSt lk/fld8sf] cfotg kQf nufpg'xf];\ .    [2] 

  Find the volume of the pyramid. 

^= lrqdf dfly cw{uf]nfsf/ x'g] ul/ Pp6f ;f]nLdf 

cfO;lj|md el/Psf] 5 . pSt ;f]nLsf] 58\s] 

prfO 25 ;]=ld= / cw{Jof; 7 ;]=ld= 5g\ .  
 In the figure, a cone is filled with ice-

cream whose upper part is hemispherical. 

The slant height of the cone is 25cm and 

its radius is 7 cm. 

 -s_ pSt ;f]lnsf] prfO (h), cw{Jof; (r) / 58\s] prfO (l) larsf] ;DaGw 

n]Vg'xf];\ .       [1] 

  Write the relation among the height (h), radius (r) and slant height (l) 

of the cone.  

 -v_ ;f]nL / cw{uf]nfsf/ efudf /x]sf] cfO;lj|mdsf] hDdf cfotg kQf 

nufpg'\xf];\ . [2] 

  Find the total volume of ice-cream in conical and hemi spherical 

parts. 

 -u_ ;f]nL cfsf/ / cw{uf]nfsf/ efudf /x]sf] cfO;lj|mdsf] kl/df0fx¿ t'ngf 

ug'{xf];\ .        [1] 

  Compare the quantities of ice-cream in the conical and hemi-

spherical parts. 

&= Pp6f cfotsf/ sf]7fsf] nDafO, rf}8fO / prfO qmdzM 13ft, 12ft / 10ft  5g\ . 

pSt sf]7fdf 3ft×4ft sf b'Ocf]6f  em\ofn /  3ft×6ft sf] Pp6f 9f]sf 5g\ . 

 The length, breadth and height of a rectangular room are 13ft, 12ft and 

10ft respectively. There are 2 windows of size 3ft×4ft and a door of size 

3ft×6ft. 

7 cm 

25 cm 
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 -s_ 9f]sf / em\ofn afx]s rf/ leQf / l;lnªdf ?= 40 k|lt ju{ lkm6sf] b/n] /ª 

nufpg slt vr{ nfU5 < kQf nufpg'xf];\ .    [3] 

  How much  does it cost to paint four walls and celling excluding door 

and windows at the rate of Rs. 40 per square ft?  Find it.  

 -v_ olb k|lt ju{ lkm6sf] b/ 25% n] a[l4 eof] eg] sf]7fsf] pxL efux¿df /ª 

nufpg hDdf vr{ sltn] a9\g hfG5 < kQf nufpg'xf];\ .  [2] 

  By how much will the total cost of painting the same parts of the room 

be increased if the rate of cost per square feet is increased by 25%? Find 

it. 

*= s]xL kbx¿ ePsf] Pp6f ;dfgfGt/Lo >]0fLsf] klxnf] kb / clGtd kb qmdzM 4 / 
40 5g\ . ;j} kbx¿sf] of]ukmn 220 5 . 

 The first and last term of an arithmetic series having some terms are 4 and 

40 respectively. The sum of all terms is 220.    

 -s_ ;f] >]0fLsf] klxnf] n cf]6f kbx¿sf] of]ukmn lgsfNg] ;"q n]Vg'xf];\ < [1] 

  Write the formula to calculate sum of the first n terms of the series. 

 -v_ pSt >]0fLsf] hDdf kbx¿sf] ;ª\Vof kQf nufpg'xf];\ .  [2] 

  Find the total number of terms in the series. 

 -u_ pSt >]0fLsf] t];|f] kbdf slt yKbf klxnf tLgcf]6f kbx¿ u'0ff]Q/ >]0fLsf 

x'G5g\ < kQf nufpg'xf];\ .      [2] 

  What should be added to the third term of the series so that the first 

three terms  form a geometric series?  Find it. 

(= Pp6f cfotsf/ v]tsf] nDafO rf}8fOeGbf 8 ld= n] a9L 5 . pSt v]tsf] If]qkmn 

384 ju{ ld= 5 . 

 The length of a rectangular plot is 8m more than its breadth. The area of 

the plot is 384 sq.m. 

 -s_ ju{ ;lds/0f ax
2
+bx+c=0, a0 df x sf d""nx¿ sltcf]6f x'G5g\ < n]Vg'xf];\ .  

        [1] 

  How many roots does quadratic equation ax
2
+bx+c=0, a0 have? 

Write it. 

 Vf_ pSt v]tsf] nDafO / rf}8fO slt x'G5 < kQf nufpg'xf];\ .  [3] 

  What are length and breadth of the plot? Find it. 

 -u_  pSt v]tnfO{ juf{sf/ agfpg nDafOaf6 slt 36fpg'k5{< u0fgf ug'{xf];\ . [1] 

  How long the plot should be decreased from its length to form it is a 

square plot? Calculate it. 

!)= -s_ xn ug'{xf];\ (solve): 332 32   xx
    [2] 

 -v_ ;/n ug'{xf];\ (Simplify): 
34

2

65

1
22



 xxxx

  [3] 
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!!= ;Fu}sf] lrqdf NS//AM / NA//KM 5g\ . NK nfO{ 

ljGb' S ;Dd nDAofOPsf] 5 .  

 In the adjoining figure, NS//AM and NA//KM. 

NK is extended to the point S.  

 -s_ j/fa/ If]qkmn ePsf b'{cf]6f lqe'hx¿sf] gfd 

n]Vg'xf];\ .     -!_ 

  Write the name of two triangles having equal area. [1] 

 -v_ k|dfl0ft ug'{xf];\ (Prove that): PAM= 
 

 
   AMKN? [2] 

 -u_ lbOPsf] lrqdf PQRS Pp6f ju{ xf] h;df 

PR=10 ;]=ld= 5 . PS nfO{ T ;Dd nDJofpFbf 

aGg] QRT sf] If]qkmn slt x'G5 < kQf 

nufpg'xf];\ .  

  In the given figure, PQRS is a square in 

which PR=10cm. PS is produced to T. 

What is the area of QRT so formed ? Find it. [2] 

!@= s]Gb|ljGb' O ePsf] j[Qdf Pp6} rfk PR df b'O{cf]6f kl/lw 

sf]0fx¿ RMP / RNP  lvlrPsf 5g\ . ROP s]Gb|Lo sf]0f 

xf] .   

 In a circle with centre O, circumference angles RMP 

and RNP are drawn on the same arc RP. ROP is the 

central angle.  

 -s_ RMP  / RNP larsf] ;DaGw n]Vg'xf];\ . [1] 

  Write the relation between RMP and RNP. 

 -v_ olb MRN=(7x-2) / MPN=(3x+10) ePMRN sf] dfg kQf 

nufpg'xf];\ .         [1] 

  If MRN=(7x-2) and MPN=(3x+10), find the value of MRN. 

 -u_ slDtdf 3 ;]=ld= cw{Jof; ePsf b'Ocf]6f j[Qx¿ lvlr RMP / ROP  

larsf] ;DaGw k|of]ufTds ?kdf l;4 ug'{xf];\ .   [2] 

  Verify experimentally that the relation between RMP and ROP 

after drawing two circles having radii at least 3 cm. 

!#= -s_ Pp6f rt'e'{h ABCD sf] /rgf ug'{xf];\ h;df AB=4.5 ;]=ld=, AC=CD=5 

;]=ld= AD=6  ;]= ld= /  BAC=60 5g\ . pSt rt'e'{hsf] If]qkmn;Fu 

a/fa/ x'g] u/L Pp6f lqe'h PBC sf] klg /rgf ug'{xf];\ .  [3] 

  Construct a quadrilateral ABCD in which AB=4.5cm,AC=CD=5cm, 

AD=6cm and BAC=60. Also, construct a triangle PBC whose 

area is equal  to the area of the quadrilateral. 
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 -v_ pSt /rgfaf6 k|fKt rt'e'{h ABCD / lqe'h PBC  sf] If]qkmn a/fa/ x'gfsf] 

sf/0f lbg'xf];\ .         [1] 
  Give the reason for being the area of the quadrilateral ABCD and the 

triangle PBC equal.  

!$= lbOPsf] lrqdf AB Ps hgf afnssf] prfO xf] / 

ljGb' C cfsfzdf pl8/x]sf] Pp6f rª\ufsf] :yfg  

xf] . AC rª\ufsf] wfuf]sf] nDafO xf] .  

 In the given figure, AB is the height of a boy 

and a point C is the position of a flying kite in 

the sky. AC  is the length of the string of the 

kite. 

 -s_ pGgtf+z sf]0fnfO{ kl/eflift ug'{xf];\ M [1] 
  Define angle of elevation 

 -v_ olb CAH=30  eP CH sf] dfg slt x'G5 < kQf nufpg'xf];\ . [1] 
  If CAH =30, what is the value of CH? Find it  

 -u_ cfsfzdf pl8/x]sf] rª\usf] prfO kQf nufpg'xf];\ . [1] 
  Find the height of the kite flying in the sky. 

 -3_ olb CAH sf] gfk 30af6 45 df ablnof] eg] rª\uf klxnf] prfOeGbf 

slt prfOdf p8\g] 5 < kQf nufpg'xf];\ . [1] 

  If the measure of CAH  be changed from 30 to 45, at what 

height the kite fly than the previous  height ? Find it. 

!%= tnsf] tflnsfdf 50 pkef]Stfx¿sf] dfl;s ljB't vkt -o'lg6df_ lbOPsf] 5 .  

 The monthly consumption of electricity (in units) of 50 consumers is 

given in the table below. 

ljB't vkt (Consumption 

of electricity) 

50-60 60-70 70-80 80-90 90-100 

pkef]Stfsf] ;ª\Vof 

(Number. of  consumers) 
6 8 15 12 9 

 -s_ lg/Gt/ >]0fLsf] dlWosf kQf nufpg] ;"q n]Vg'xf];\ .   [1] 

  Write the formula to find the median of a continuous series. 

 -v_ lbOPsf] tYofª\ssf] /Lt kg]{ >]0fL / dlWosf kg]{ >]0fL kQf nufpg'xf];\ . [1] 
  Find the modal class and median class of the given data. 

 -u_ lbOPsf] tYofª\ssf] dlWosf u0fgf ug'{xf];\ .     [2] 

  Calculate the median of the given data. 

 -3_ s] dflysf] u0fgfaf6 /Lt >]0fL / dlWosf >]0fL Pp6} kfpg' eof] < s] oL ;w}F 

pxL x'G5g\ <sf/0f lbg'xf];\ .      [1] 

  Did you find the modal class and median class same from the above 

computation? Are they always same? Give reason. 

C 

H 

D 

A 

B 

1.3 m 

300  
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!^= 12 hgf s]6f / 18 hgf s]6Lx¿ ePsf] Pp6f sIffaf6 klxnf]nfO{ k'gMgk7fO{ b'O 

hgf ljBfyL{x¿ uf]nf k|yfaf6 5fg]sf 5g\ . 

 From  a class having 12 boys and 18 girls, two students are selected 

randomly without sending the first student back  to the class. 

 -s_ kf/:kl/s lgif]lwt 36\gfx¿nfO{{ kl/eflift ug'{xf];\ .   [1] 
  Define mutually exclusive  events.  

 -v_ s]6f / s]6L kg]{ ;Defljt kl/0ffdx¿sf ;DDefJotfx¿nfO{ Pp6f j[If lrqdf 

b]vfpg'xf];\ .       [2] 

  Show the probabilities of possible outcomes of selecting boys and 

girls in a tree diagram. .  

 -u_ b'O{ hgf s]6L kg]{ ;DefJotf kQf nufpg'xf];\ .    [2] 

  Find the probability of  selecting both girls. 

 -3_ slDtdf Pshgf s]6f kg]{ ;DefJotf k"0f{ ;DefJotfeGbf sltn] sd x'G5 < 

u0fgf ug'{xf];\ .       [1] 

  By how much the probability of getting at least one boy is less than 

the total probability? Calculate it. 

   

 
 

 

 

  

 

 

 

 

  

  

 

  

  

 

 

   

  

 


